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2

ln 0( ) ln (1 )

sin(2 ) (1 ) sin(2 ).

HbO Hb

HbO Hb

V t V Q DCSA DC S A

CSA d ft C S A d ft

λ λ λ

λ λ

= − − − − −

− ⋅ π − − ⋅ π -**/

?���1��;��1���;	�����1������3� -**/� �������<
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1 1 1( ) ( ) (1 ) ( );HbO HbV t CSA d t C S A d tλ λ λ∆ = − ⋅ ϕ − − ⋅ ϕ -*(/

2
2 2 2( ) ( ) (1 ) ( ).HbO HbV t CSA d t C S A d tλ λ λ∆ = − ⋅ ϕ − − ⋅ϕ -*G/

I����	����1�������� -*(/���� �1�������� -*G/��
��@���������������������	
���_6���	�;��

2 2

1 2

2 2 1 1

,
( )

Hb Hb

HbO HbOHb Hb

A A
S

A A A A
λ λ

λ λ λ λ

− α
=

α − + −
-*,/

���

1

2

,
V

V
λ

λ

∆
α =

∆
-*H/

��∆+λ*���∆+λ(�A����	����1���������12�������	38<
:�2�7������������>��7�������������	�������12�<
���	�����>��;��7����>����������7� 

����1��������-*,���*H/��	������
* �"	3��1;��	���3�_������������3���������3���<

���3��12�������	38:�26�;�������:�����2������	
<
��������7���������� �����������������3�7��1;��<
	���	
�1���������� 

( �01;��	�����_����:����	3���3������;����>��<
��	�6�������	
�������������3������@����
�������<
��3�7�=>>�9������������9� 

G �?����3���3�������	38:�3��12������������<
	��	�����>��;��7����>����������7�6���3�����3��
��	:����� ��� �������:�2� ��	
����8:��� 7����
�7����6��� ��7���������>�7����6��1�����1������<
����	
�����7�������
8� C�������;	��� �1������3
-**/D6�3�	3���3�������	
�1��	�����>�������������
������	38:���	���������>����������7�6���=��<
���������;��7������������ �����	�������2�����
���	���	�� ��	
������� �7�������6� ���	���8:���
�	�������-**/6����;���	
������
@�6�;�������	
��<
����� �7�������� �� ���;�7��6� ��������	���1�� ��
�	
���6��	�������	
��6���������3�;��������	
����

7� ����>�7������7�������9����1������������3�
���	�������� 

, �%��	����1���������12�������	38:�2�7���<
���������>��7�������������	�������12���2����;�<
7�������3����	
7�������h������	
����8:���7����
��7�=>>�9������������9�������������3������������

3��4��4�H8
�F��
�	�
�7��9�������������

	�����%���������%��������
����

3��4�(4�#��%����"
9��

9����
�	�"�����������	�����%���������%��������
�����"��
%������
�����
�	�

��������
�
�����I%%�F��
������	���
�7���	8��
�7�
��8	����8P�������
�P���������(



(4�!"�#���$%&��!'��$% �()*) �+�,�-(.(/

�����������	
������
�	��

���	�:���3�����������	:��1����������12��7����6
��=�����������;��7�����������������������12��
9�>���1�����	����12������	���������7�	
7����<
�3�7������
@�6�;�������	
��������7����������	�<
����1��>����������7��6��	�������	
��6��������<
�����	�����>��;��7���>����������7�����������<
8��3�������1����3��6������	�����8:����	3����1<
@���3� ��;������ �1;��	���3� 7�=>>�9�����
������9������	����1������������8:�2������	��6
;���������	
����������	3�����������
�������������
9�	�� 

?������������1��������-**/����;���3�{6�����1�
*6�(���,6���	�;����1������36�����1��8:��������	1
����12�������;�7����������3�12���	���32�-./6�7���<
�1�������>�;��7����������������	��1�����	
��� 

0���	�;�������12���12������	������;�7����	�<
����1��>����������7���-�	
���/����	����1�����<
����12�������	38:�2���2���������	������	��	���<
��>��������3������3��1 ������38��3���	
7����<
���3��1�� ������	38:��6� 7����1�� ��� �	�38�� ��
�1;��	����� 7�=>>�9������ ������9�� � �	�����<
��	
��6� ����������	�;��� ����2��������������12
�7���������7��1�����3������;�����������1������<
�� 

I�����������	�3���� ������7��������������	
<
��������7����������	�����>��;��7���>��������<
��7�� �"	3� =��������	�����>��������1�������
-*)/����������������	�;������ �1�������� �� ����
;��1��2� ���7����12� �����	��� ��� ���������
)���)6�*6�B6�H*(���	3�λ*�A�����+*���)c��	3�λ(�A����
+*���)c��	3�λ*�A�����+*���)6*����	3�λ(�A�����+*���)6* 

"	3��9��7�����;�����α����>����	��-*H/��1;��<
	����1���1���������������3�e��
�� -��j/�;��1<
��2����7����12������	���

[ ( )].kX FFT V kλ λ=

������������
����	����1���������12�������<
	38:�2�β*���β(6�����7���βG���β,��	3��	�;����+*���)
-�����������������7�/���+*���)6*�-������7�������	�<
�����6�����	�����	
���������������8���������<
�����	������� �����	����7�����������>��7������
7���	�2/�������������������>����	��

( ) ( )
256

2 2

1 1 10
0

0,026;k
k

X Xλ λ
=

β = − =∑

( ) ( )
256

2 2

2 2 20
0

0,065;k
k

X Xλ λ
=

β = − =∑

( ) ( )
256

2 2

3 1 10
0

0,061;k
k

X Xλ λ
=

β = − =∑

( ) ( )
256

2 2

4 2 20
0

0,113,k
k

X Xλ λ
=

β = − =∑
����vλ*)�f�vλ()�A����7���	
�1��������	38:�������<
������)� �12���12� �����	������;�7�� �� 7������f
��>��7�������7���	�2 ���������������1������3
-*H/��1;��	������;���3�α

1
1

2

0,396
β

α = =
β

������� 3
2

4

0,54,
β

α = =
β

�� ��7��� ���;���3� 7�=>>�9������� ������9��� ��
>����	��-*,/�

_
*
���*�-����������������/c

_
(
���)64,G�-���
@���������������H65�|/ 

�����������3���	�;���12�����	
������������1<
��:�����	������
• ���� ����������� ����2� ��� ������7�� ���������

7�=>>�9������������9�����������:�����;�7�
��	�����>��;��7���>����������7�������	�;��
���	������������:����	3���3������;����>����<
	�6�������������	�������c

• �	�3���� ������7�� ��� �����@����
� ��������3
7�=>>�9������ ������9�����	
���1���7�����<
���� �� 	�����>��;��7��� ���;�7��� ����	���<
��	
�����*6G���������
@�6�;�����	�����1� 
�2���� ��	
������� �7�������6� ���	���8:���

�	�������-**/6���������	��������	
��� 
0���������1�����;���������������	��������<

	���36� �1�����1����1�� ��7�����9�������
-�?/6�����;��7����7���}*���}(�>������8�����;�<

3��4�*4�H8
�F��
�	�
�7��9�����8	���"����������������	�����%���������%��������
����



G) �!"�#���$%&��!'��$% �()*) �+�,�-(.(/

�����������	
������
�	��

������������1������7��������������w(���wG�7���<
��������	�������	�1�λ*�����>��7�����������	�<
������	�1�λ(���	�;���36� 7����1�6������3�;����
���	�����1����h�7��-�
/6��1�1��8����7���9���
>���������wG6�������9����	
�1����7���1����<
���������������������������������	�;���3 ���7
>��������� ������������3� �� ����	
�1� ����3��<
���6�������9����	
�1�������������������@��<
@�2�;������
���	�;�����7������������>��7���<
�����7���	�� �"�	�������	
��1�������	1����;�<
7���������8�����7�����������������7��-$~/�����<
����	�����>����8��3����	���	���d* �012���1�
�����	1�d*��������8������2��1����2����12���<
��7�������"*����"(6�7����1�����2��������8�<
�3� ����	
����� �����	��� �����	���36� ��������<
8:�2� ���������1� ��7�� }*� �� }(� �������������� 
��7����������6�����12�����"*�>���������3����<
��	6�������9����	
�1��������	
�����	�����><
�����������������7�6����@��@����;��������	���<
��1�� ��h�7�6� 7�������� ��	�;���3� +λ*-b/� �
��+λ*���∆+λ*ϕ-b/6�������12�����"(�A���>��7���<
�������	�;���3�+λ(-b/���+λ(���∆+λ(ϕ-b/ �01��	��<
�1�������	���	
�1���9���;7����^*v*���^(v(��
���	���1�����	���	3���d(���dG���������1����<
����	38:���∆+λ*ϕ-b/���∆+λ(ϕ-b/��������8��������<
�1������������2��1���	
���	�7�����-�'/6����<
2�������������������	��������	���3���������<
��� �12���� �? � "�	��� �����	1� 7�������� �� ��><
��7��������7���	������������8��3���������:�
���	���<9�>������� �������������	3� -%#?/� �
���	�������	
������9�>���12����;����6�7����1�
����3��3����@��������12����? �0��?��1;��	3<
���3�U�������������������1���������-*H/6��������
_�A�������������������1���������-*,/ �?�������<
:�� ������������� �� �?� ��� @���� �����<�1����
���@����������������-0d/�������;���8��3�����<
���7�� �������� �����1� ��	
������� �7�������� �
����7�9�3������3��12����������� 

�������	���1�� ��� �������3���� ~%

���$%I"<�%�%�� ��� �2���6� ������������ ��
�	
�� �6� ��1��1��������9���	
��������7���������
����������������� ����������7�������9�������
�J
<)*��
�����	
������@�	�����9���7������1<
����3����7�>��������������	����������������	�<
������ �0 � �0�����7�����?���%?
 ����1����3
�������	��
��������3���:�������������-����	39�<
��������������������/6�����7�������	������������<
�����������������������HG���9������ �?�7�����3
���1�1����������	
��������7�������� ��������<
	��
�����7�����3��������������8:����7���	����<
��������}PrbPbaX��WVaU��-��`UmW`�/ 

0�,(�|��	�;������7�����	��{s[(��������2���	
<
��7�������2���	����
8������	�6� �� G5�|�A����1<
�1����1��������� -~%
����$%I"<�%�%�/� ��<

����	���7�����	��{s[(����*�|6���(*�|�A���������6
���1@�	����*�|������������8������������ �0��<
�3����������	���3�>����	�����������1�������<
�	������1�1����������	
��������7������������<
������ �������7�� ���;�7�� ��� ��	�9� ��9������ ��<
�����	��H�� �0���3����������	���3�>����	������<
�����1� ��� ����	��� ��������� �}PrbPbaX� �WVaU�
�������	��*,�� 

��7��� �������6� �� 7	���;��7��� ��;7�� �����36
��	
��7������6��������	���1��~%
����$%I"<
�%�%�6���������������16�������;�������������;<
����1��7�8���;����
����������6������������A������
������:��������	����1�������>����������3���7�<
������ �����3� �7���������������� �����	�����
-{s[(/����	���������7�����;�7� 

�������
����	���
:�����!�	�	
�
� ���((��0��
1�(����:	���� ���	�
�
�� ��� 	����� �� �		�
����#
2��
��	���������-*$*3*4��$�)�*+$,++$--$+*+*5$

��	
�
��	���������

* �����	�� �H�����9�>�;��7�������	��1���������<
7����	
���12��7��������� ff�����9���7�3���2��<
7� �*44G �+�. �� �(.<(L 

( q	�	
��� E�E�!� @������ #�%�!� A�
������ ��K�
��������	
���� ���	��������� �3��� ��	
���12
�7��������� ff� ����9���7�3� ��2��7� � *44G 
+�* �� �(*<(, 

G $�����A����
�����	����������������1:���3�9��<
7�	���8:��� 7����� 7��	������� ��� ���	�����
��	
��������	�1� ff�����9���7�3� ��2��7� � *44( 
+�H �� �*.<*5 

, �������A�%�!�K��
���D�%��
�����1��=���1������<
��3�>����7�������������ff�����9���7�3���2��7� 
*44G �+�* �� �H<*) 

H D���
���D�� ?�	
������ �7������� f� ?������ ��
������������+�(*H()G)�(5 ). ())) �F8	 �+�*L 

���
����	��D	S�N���	J�"���P	�

	N!
PR����P�����
!����O�

��!

�����
�O�P��N!
%�P	��A��������	J�D�����
!


��P����P�����
!�P�����!

�O�P������
���	���F		�	

����	������F		�	���%�"��%����

�F�!
�I��DAI$!

���
����	��D	S�N���	J�D���
!

��P����S������
!

F���
���	��	
�������P	�	�

�N���S�	
�!
$A$�T��������TH���	�Rt��
����V

F�����
�RI�������F!
8R;4(-�� d~-898](.')3\;4(-�07

�����������������


